Whitman College

Econ 308

Exam 3

November 19, 2008

Write all of your answers in your blue book.  Show all of your work.  The exam ends at 2:20.

1.  (a) (5pts)  According to the Quantity Theory of Money, how (if at all) does a change in the money supply affect the income velocity of money?  Explain.

(b)  (5pts)  According to the Quantity Theory of Money, how (if at all) does a change in the money supply affect the price level?  Explain.

(c)  (5pts) According to the Quantity Theory of Money, how (if at all) does a change in the money supply affect real aggregate output?  Explain.

2.  (15pts)  The Federal Open Market Committee last met on October 29.  After the meeting, it released a statement describing what monetary policy action it decided to take, and why.  What action did the FOMC take, and what reasons did it give in the statement?

3.  (a)  (5pts) Define investment.

(b)  (10pts)  Consider the hypothetical countries A, B, C and D.  The chart below shows aggregate data for each of the countries for the year 2007.  Fill in the missing information in the chart.

National Income and Product Accounts Data for 2007

	Country
	Government savings
	Private savings
	Investment
	Exports
	Imports

	A
	50
	-30
	40
	100
	

	B
	-50
	-10
	40
	
	140

	C
	-60
	200
	240
	80
	

	D
	
	50
	150
	120
	70


4.   Consider the Keynesian cross model in which aggregate planned consumption expenditures, C, equal 50 + 0.6(Y-T), where Y is real aggregate output, and T=20 is taxes.  Planned investment expenditures, I, equal 100, and planned government expenditures, G, equal 20.  

(a)  (5pts)  Calculate the equilibrium level of real aggregate output.

(b)  (5pts)  What is the tax multiplier in this economy?

(b)  (5pts)  If the natural rate of output is 365, what tax policy would return this economy to the natural rate?

5.  (15pts)  Derive an LM curve.  As you derive the curve, explain in words what you are doing.   Be sure to label the axes of all the graphs that you use.

6. Suppose that the federal government increases government expenditures and the central bank tightens monetary policy.  Use the Keynesian IS-LM model to complete parts (a)-(d).  

(a)  (5pts) On an IS-LM diagram, indicate the macroeconomic equilibrium before the policies go into effect, and the new equilibrium after they go into effect.  (You do not need to derive the LM or the IS curves in your diagram.)  

(b)  (5pts)  What happens to real aggregate output?

(c)  (5pts)  What happens to the real interest rate?

(d)  (10pts)   What happens to investment expenditures?  Explain.

